6.1 Find Intercepts form Standard form finished April 12, 2017

Write an equation in standard form:
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f(x)= x 6x >—7ic*+} 6%

Given that( 3 0)isan
intercept?
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6.1 Find Intercepts form Standard form finished

f(x)=x=Tx"—x+7
Sketch a graph given (-1,0) is an x-
intercept
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Sketch a Graph of the
equation:
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6.1 Find Intercepts form Standard form finished April 12, 2017

Knowing is an intercept sketch a
graph of the function below
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Sketch a graph:
f(x)=x-x"-14x+8
D% edy Given (x - 4) is a factor.
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6.1 Find Intercepts form Standard form finished April 12, 2017

Sketch a Graph of

f(x) = -x® -2x> + 11x + 12, Given x = -1 is
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